Claims of TET:

1. curved time is necessary and sufficient to explain
gravitation ¥

2. time must possess elasticity, heretofore called temporal
elasticity

3. as temporal elasticity is the basis for gravitation, it
is also the basis for the strong nuclear ‘force’

4. ‘Relativistic mass’ 1is a misnomer — and — the difference
between ‘Relativistic mass’ and rest-mass is energy 1in
temporal warp which causes time-dilation — both
Relativistic and gravitational

5. every mass creates a temporal dilation field equal in
energy to that mass

6. the temporal dilation field tapers off to ‘zero’
radially as the Schwarzschild metric defines gravitational
time dilation for typical neutron stars:

.7 = 1/J(1-rs/r) => 0.654 = r./r

Schwarzschild metric defines gravitational time dilation
for typical neutron stars







Justification for 2 (and more):

It’'s an accepted fact that time slows down near gravitating
bodies such as Earth and neutron stars. The following
diagram depicting the time-dilation near a typical neutron
star is merely an illustration of an accepted fact:
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The vertical axis 1s time-dilation; the horizontal axis 1is
distance from surface in units of Schwarzschild radii, rs.
As you can inspect, ‘connecting the dots’ allows us to
surmise that temporal-curvature energy density is an
exponentially decaying function — decaying radially —
resembling a (3D) Normal / Gaussian distribution. So by
inspection, it’s natural to assume 5, a spherically uniform
temporal dilation field — and — 3, that temporal elasticity
is the actual mediator for the strong nuclear ‘force’ since
we’'re talking about neutron stars — the macroscopic analog
of nuclei.
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